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Ex. 1  Choose the correct word for each of the following and give the plural form:
(analysis, criterion, memorandum, phenomenon, formula, datum, crisis, medium)

a) ………………………….. are facts given.
b) ………………………….. are observed events.
c) ………………………….. are decisive moments.
d) ………………………….. are channels of communication.
e) ………………………….. are notes to assist the memory.
f) ………………………….. are standards or means of judging.
g) ………………………….. are general expressions for solving problems.
h) ………………………….. are separations of things into their parts or components.

Ex. 2  Fill in a suitable expression in the correct form:
(radius, formula, datum, criterion, focus, spectrum, crisis, vertex, nucleus, curriculum vitae. They may be used more than once)
a) The ………………………….. of a circle is the length of a straight line drawn between the centre and the outside edge.
b) We had to learn many chemical ………………………….. at school but I can only remember H2O for water.
c) The ………………………….. was/were collected by various researchers.
d) The Health Service should not be judged by financial ………………………….. alone.
e) All the line segments extending from the centre of a circle are called …………………………..
f) In physics the point where waves of light or sound which are moving towards each other meet is called a …………………………..
g) A ………………………….. is a short group of letters, numbers or other symbols which represent a scientific or mathematical rule.
h) The set of colours into which a beam of light can be separated is called a …………………………..
i) Now the ………………………….. is being transferred from magnetic tape to hard disc.
j) The ………………………….. I apply to (= by which I decide about) any problem is “What will make me happiest?”
k) I´ve passed several ………………………….. during my illness, but the fever´s started to go down yesterday.
l) How many ………………………….. are there in a triangle?
m) Nuclear fission means the dividing of a ………………. and nuclear fusion means the joining of the two ………………
n) My uncle´s ………………………….. written before and after the Velvet revolution differ a lot.
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Irregular and foreign plurals
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! LATIN/ GREEK PLURALS
1 [beisis] bases [beisi
analysis [2'nalosis] analyses [a'nelasi:z]
axis [eeksis] axes [aeksi:z]
hypothesis [hai'pobisis] | hypotheses [hai'poisi:z]
2 | stimulus [stimjulas] stimuli [stimjulai / stimjuli:]
nucleus [nju:klias] nuclei [nju:kliai]
radius [reidias] radii [reidiai]
focus [foukas] foci [fousai / fousi: / foukai / fauki:]
fungus [fangos] fungi [fangai / fandzai / fangi:]
3 |formula [fo:mjula] formulae  [fo:mjuli:]
larva [la:va] larvae [la:
alga [=lga] algae [eldzi: / eelgi: / 2ldzai / @lgai]
4 | criterion [krai'tiorian] | criteria [krai'tiaria]
phenomenon [fa'nominan] |phenomena [fa'nomina]
bacterium [baek'tioriam] | bacteria [baek'tiaria]
curriculum  [ko'rikjulom] |curricula  [ka'rikjulo]
‘medium [mi:diam] media [mi:dia]
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THE NITROGEN CYCLE .
Nitrogen is an ambiguous element. On the one hand it fertilizes plants and feeds ani-
mals. On the other hand it poisons waters and acidifies rain. Since living creatures re-
quire nitrogen to build their
tissues, it is an essential ele-

= ment for life on earth. But,
although four out of every

~—— nitrogen
//-\ Denitification five atoms in the air are nitro-

ixation by ky
lightning X3

% Fixation by gen, it is in an inert form, i.e.
<P plants it does not react with other
chemical substances. Animals
and plants therefore rely on a
series of chemical reactions
to convert it into the forms
that they can use, and eventu-
ally return to the air.

The first step is the “fixation” of nitrogen gas by conversion to ammonia and nitrates.
Lightning contributes some nitrogen, in the form of nitrates, to the soil. But the source
of most nitrogen is bacteria on plants. which “fix” the nitrogen into ammonia. The
ammonia is broken down into nitrites. The nitrites are then converted into nitrates by
soil bacteria. The nitrates in the soil are absorbed by plant roots. When animals eat
the plants, the nitrogen the plants contain is synthesized into protein. When plants or
animals die, proteins are decomposed by bacteria into amino acids whlcl_\ are in turn
broken down into ammonia. The ammonia resulting from the decomposition returns
{0 the nitrite—nitrate-protein cycle. Some of the nitrates are degraded into nitrogen gas
in the denitrification process. This gaseous nitrogen is returned to the atmosphere. The

cycle is complete.
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True or false?

1) Elements like nitrogen are taken from and returned to the air.

2) Nitrogen does not affect water supplies.

3) Nitrogen is one of the elements necessary for life on earth.

4) Nitrogen is needed by plants and animals and human beings alike.
5) Proteins contain little nitrogen.

6) There are not many nitrogen atoms in the air.

7) Nitrogen present in the air is non-reactive.

§) Nitrogen is used by animals and plants in a changed form.

9) Animals and plants depend on chemical reactions for their intake of nitrogen.
10) In time, plants and animals return nitrogen to the atmosphere.
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Describe the cycle by filling in the blanks: =0

Firstly “fixation™ takes place by of nitrogen to ammonia and
nitrates. Some nitrogen, in the _ of nitrates, is supplied to the soil
by lightning. The “fixation” of nitrogen into ammonia is brought

about by the action of bacteria. The ammonia _ into nitrites, which

are fien T into nitrates by bacteria living in the soil. The nitrates

by plant roots. Plants by animals and human
beings and the nitrogen they is synthesized into proteins. When
plants or animals die, proteins by a series of chemical reactions
back into ammonia and nitrates. Some of these compounds to the
nitrite-nitrate-protein cycle, some into gaseous nitrogen, which

to the atmosphere.
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Read the following Ppassage and decide whether the process described is linear or
cyclical.

FOOD CHAIN IN THE SEA

The food chain describes the way in which ey erything in the sea seems to be eating
everything else. Life in the sea begins with nutrient salts washed there by rivers. These
salts feed masses of tiny plants, chiefly algae, called plankton, which drift in the sea.
Plant plankton need sunlight to grow, so they are found near the sea’s surface.

Plant plankton are eaten by tiny animals called animal plankton, which in turn are
eaten by small fish such as herring and sprats. These fish are eaten by larger fish such
as cod and haddock, a source of food for seals and dolphins; in their turn, these are
eaten by killer whales.
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1 Look at the picture and read the three captions. Decide which caption belongs
into which box.

1) As the greenhouse gases slowly

The greenhouse effect

build up, more of the sun’s energy is

trapped so the Earth slowly heats up.
2) Some of the sun’s is reflected

back into space in the form of light

or infra-red radiation (heat). Some is
trapped by the atmosphere.

3) Burning fossil fuels (oil, coal),
burning forests, and some farmin
methods release “greenhouse gases
into the atmosphere.

2 Which of the following are greenhouse gases?

©OXxygen, nitrogen, ammonia, methane, carbon dioxide, carbon monoxide

3 Read the following sentences. Make sure you understand them.

Climate change is now the greatest short-term threat facing the planet.

The big problem on the global warming issue is not the science.

Without a small amount of carbon dioxide in the atmosphere, the Earth would be
too cold for life.
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5 Listen again and fill in the diagram.

6 Give a brief description of the carbon cycle diagram by filling in the blanks
with the following verbs: is used, is returned, is produced, is combined, is
maintained, is breathed out, be taken in, is changed,

Whenanimals take in carbon in food, it ) with oxygen from the air
and energy @ . Carbon dioxide ¢ by animals so
thatitcan™ Ty plants. The carbon dioxide
by plants into carbon and oxygen. The carbon © to build plant
tissues, theoxygen ™ totheair. Thusabalance ¥
between the important substances in the air.





